2.1

2.1 (active pile) (passive pile)

( , 1983).

ES

—
A = S
[ =L I=E =y S—

@) (b)
2.1

2.1(a)

2.1(b)



2.1.1

)

()

@)

(4)

()

(6)



(7)

2.1.2

2.1(a)

Chang (1976)
Broms(1964)

(1)



)

@)
(Landing pier) Dolphin

(4)

()

Anchor wire Tie rod

Anchor wire Tie rod



2.2

(1)

()

@)
(4)

)
()
@)
(4)

2.2.1
. Tschebotarioff
T schebotarioff (1973)

Winkler

22(a)

T schebotarioff 2.2(b)



A

f?f;&.“dff;&-&‘.l
Pl 28 7] 3t Yo
o o
My
- B2IEEIE
RI]_| SR i ——
=L
B d' " - i
LA
ae —
s P 'l'—:—l"l—'.—.—._.l '
"B O,
L) ) R
Ra
E=E |
(b)
2.2 T schebotarioff
PH ’ MB
P,= 08dy H (2.1)

- 10 -



M, = - Pa(@’-a))

2 L (22)
1 d 1 y 1 H’
M:(Pxi)(z-ﬁ+“—3) (23)
m 2 L L3 y
P Pu 24
P = 0.9 PHE’ (24)
L 22(b) ,
y a ,t

. De Beer and Wallays
De Beer and Wallays(1972)

’ (Fs) slope 16

(1) (Fs)slope2 16

Hy Hy By Cy
1
B .‘:1':‘ n L
s H H o =f 1 B
a2 B | A 5 _
A A ¥ I A I
i Py Mo LR ; By oo % Pi
(a) (b) (©)

23 De Beer and Wallays  ((Fs)siope = 1.6)

- 11 -



Ph = f p
PO 2)
(Z - £
a 23
H,
Hy
Hf: 18k
(24)

(2) (Fs)slope < 16

16

(©)

- 12 -

24(a)

(25)

(26)

(27)

(27)

(b)

Brinch Hansen

H, D,



(b)

24 De Beer and Wallays

222

M arche(1973)
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n".lllaﬂ‘.

(c)

((Fs)siope < 1.6)

(2.8)

Vs



z -y

223
Poulos(1973)

25
n
(29)
(D)t} =~ T (P) (29)
M
INg
]o- - n-l
2 2
ip i Yei '
L - |
ifz—P P
= I\.-Ij_ ;
7
r i - Hf L
(@) , (b) (c)
2.5 Poulos
» {»} {P}  [D]
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E.,
)=

sr §

{Esr / Es}l Esr/ Es
), {ye}
[D + I ken® {p}=1
L1 =10 1
224
. Moser (1973)
multilinear

FEM

(2.10)

HIHPY +{y.}

[1]

1/ (ken®) {y.}

kR =

bilinear, multilinear, hyperbolic

- 15 -

4
E,l, | E,L

(Mindlin

(2.10)

(2.11)



2.3

2.3.1
(Ultimate lateral resistance) 26
H M
H.
M 2.6 Z:
2F,=0
Z L
H, - fo Puddz+LPuddz:0 2.12)
2M,=0
Z L
H e+ fo P, zd dz- LPuzd dz=0 2.13)
) d ) I— 1 Pu
, Z Py
Z Hy,
Z
0
(2.12)
Po = PL = Pu Zr, Hu Mu



(2.12) (2.13)

Z,= U2(H,/(P,d)+L) (2.14)
M,= Hee= (P,L2d/4)[1- 2H /(P ,Ld)- (H/(P,Ld))?] (2.15)
H,= P,Ld[V ((1+ 2e/L)%+ 1)- (1+ 2e/L)] (2.16)

( P, Po) (2.12)
(2.13)

Z, Z, P
AT ST BBy
e (Pot+ Py) (2P, + Py)

2 ) : = 0
7, - P ) BB, Ry T TR )

(2.17)
+ 12

26

- 17 -



Z P
Hu= PLLAL(- 5209+ 255 (1) - 2 (14 o)) (218)

Hansen(Poulos & Davis, 1980)

(1) Brinch Hansen

(c-¢ )

(2) Broms

(¢=0)

(c-¢ )

2.3.2 Brinch Hansen

Brinch Hansen

- 18 -

Broms(1964)

Brinch

(c=0)

(c-¢ )
.(Poulos & Davis,1980)



1]

R BAIEEEE )

e S —— 117
me
[
35 118
£ 61. 4
N ey ECLE '
20 245
17 17. 6
Bl 13,2
ﬁ.’ 19, 2
B 14
1 5 10 15 20
i
2.7 Brinch Hansen
B amas
0 HE= %
L =RBJB, ¥
il o
i =20 =
£ = 1.5 7 '._:
mn g = 1.0 f,/:-‘ ;_"
Y =
.4//”/"% i
10 e &
ﬁ"; = L%
] 10 0 BT M 50
LHS!OFE 2] & (degres
28
P,=K.,c+K q 0
q c
27
(2.13) 0

o TR PSSR D =i
W— i.:rﬁf 814
40 .___,__.--"'I
ol S T
204 (T -
o
= I8 E—
4 B —
E/f____,_iﬂ-- 5,88
/—— L8 3,50
gl
i __s 1,98
sl
e 0.62
. K= tiord=0]
: 10 15 20
eid
K. K,
" .
it HEME ////;‘
40F H,LLI"LQ‘I' ? rr ;-"
¢ = BB %
0 ALl
E /
L =20 it
20 {__1_% r - T
' —.I.D%y’,’
7 f =05 ,"'
10 - ,f‘f
F‘M ]

20 w
WS OFEE ¢ (depree)

KAl KAZ

Ke K
(2.19)

Z:

¢

(2.19)

zld

@.



12) H.

Cc, (¢u=0)
c’ ¢’

(2.20)
1984 ; & , 1987)
P,=Kaict+tKazq
KA 1 KA 2
28
(2.20)
(2.20)

(2.17) (2.18)

Hu

2.3.3 Broms

head, (fixed head)

.(Broms, 1964)

(c=0)

(short rigid pile)

- 20 -

(2.19)

M ohr - Coulomb

Z:

(restained or

(¢=0)

(long flexible pile)

(2.20)

unrotated



L/T =<2

L/R<2
L/IT >4 L/R>3.5
T = (Eply/ny) ™
R = (Eplp/kh)1/4
E, =
Iy = 2
kh: ﬂhZ
=k
n, =
234
(220) Broms
Broms
'( & , 1987)
Engel, Raes, Sniko
( , 1978)
2
Raes

- 21 -

Broms

Engel

(2.21a)

(2.21b)



24

24.1

( , 1982a,
1982b, 1984a, 1984b, 1984c, 1984d ; Matsui et al., 1982a).

- 22 -



! RN - X
H £ e —
| 5 S
W/ T
x N\ '
. N
DEI D \\\\
a1 Q'\
D, D
) .
d* @ HOT
2.9

M ohr - Coulomb
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29 H

242

(2.38)

Dl | Dl'
re) = gy ferpes

G2 (¢)
L Gi(9)

- Dyloy (2)

2

, Gi(9)= Ny tang+ Ny- 1
G3($) = N tan ¢,

Ny = tan’(nl4+ ¢l2)

(2.39)

p(2)IBo= Kyyc* Kyp0u(2)

- 24 -

D, g, D,-D
}+ [Dl(Tz) @ (@ exp (2& D 2 G3(9))

29
2.10
2.10
D G
ZGA@-D+G§$}
(2.38)

2

G,(¢)= 2tang + 2N V2 + N V7

G4(¢): 2N¢tan¢0+ C()/C

(2.39)



, B, 2.17(a) d 2.17(b)

Bl ’ GH(Z)

(2.40)

1 Dy 69, Gi(P) D,- D,
K- m[(D—z) (W(EXD(ZE—D2
G G
MO T s

(2.40)
1 1° D D
K= o ppo L(p5) V(e @020 Gy(g) - pE]
L Gi#) Gald) () Guld) 21 ¢
2.2
0 (2.39) c=0 plBy
0y(2)
2 = g 0, (2) (241)
0
4 0
p() = Dy(3In Pt + 2620 PL ) 1 (D, D)oy (2) (242)
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1) | [emaw

File

o,(2)

¥

rTrrr

&
0%
o4

H'

Pile B > '

(b)

2.10
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(2.42) B, (2.39)
’ Kpl KpZ
_ 1 D, Di,- D, ¢
Kn=7pp, GInp, #2865 — )
(2.43)
K= 1
. (243) K, (240) ¢=0
K, (2.40) $=0
(2.43) , K, (2.40)
Kpl sz
21
2.1 K,, K,
Kpl
sz
¢# 0 ¢$=0
1, G Ga(9) 1,6
=5, L5 "G 1 D, ;5
D,- D, 1- D,ID, (3“1072 *2¢ D,- D,
(exp(@ 5= Ga(é)- 1 b D o (exp (2 Gs(4))
L, G G 5 <) . De,
(T a9 D,
Go( @) + 28 G4(9) Gi(¢) + 28 Ga(p) + 1

Gy(4)= N j%tan ¢+ N 4- 1, Gy( @)= 2tan ¢+ 2N 2+ N , V2
G3(g) = N 4tan ¢,

Gy(¢)= 2N J7tan o+ colc

do= ¢,

N 4= tan*(m I4+ $/2)

co= ¢

- 27 -




211

4 . 2.11(a)
E(=ty/B,) 0
(244) (2.46) : , AE AE’
£ 0
_ Gy(¢) ., D1\ 6.9 Dy 69
p(z)= Dy Gzl(¢) [( Dz) - 1]+ [Dy( Dz) - Djloy(z) (2.44)

c=0

_ Dy 6o
p(z) = D[ ( D, ) - Djloy(z) (245)
$=0

D,
p(z) = 3cD1|nD—2+ (D1~ Dj)ay(z) (2.46)
B,/ t, D, Di- tg

2.11(b) B.x B, , AE B,

& 1 : (2.47) (249)
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p(2) = dDmﬂ%G”(Gﬁg(wmz S Go(d) - D

Ga( ) G, (¢)
69 PG4 ] (247)

+wu;f)“%wpw

2 G3(9)) - Dilou(z)

c=0
D g, D,- D
p(z)= [D1(5) "Pexp (25— Go(¢)) - Dolou(z) (248)
2 2
$=0
D, Di- D, ¢
p(z) = Dy(3In 5+ 2——5—="2) + (D1 Dy)ou(z) (249)
211(c) H
Co %o
c ¢ . Gs() = Nytan ¢
Gi(4) = 2N 2 tang+ 1
2.11(d) 2.10(a) Y2(D,- Dy)tan(x/8+ 4l4) (A E’)
AE 12tan (/8 + ¢l4)
2.2
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211
2.2 £
H
(£ 0 1 BB, Lian(Z+2)
0 (2.38) (239)

a, (2550)

pu(z) = a,% p(z) (2.50)

a, 0 a, 1

- 30 -



243

2.12 - OB
(E)) OA
U2
E 5 E,
1992 ; , 1992). , Wu(1966) E,

- 1%

Schultze & M ezler(1965) Bowles(1982)

stress @

T max

strain &

212

- 31 -

2.3, 24



2.3

(Schultze & Mezler, 1965)

E, (kg/cm?)
800 2,000 1,500
400 1,000 500
200
10 500 50
24 E, (Bowles, 1982)
SPT CPT
E, = 500 (N + 15) E=(2 44
) | E.= 1,800+ 750V E = 2(1s D7)
E,= (15,000 22,000)InN |~ %" ride
( ) | E.=40,000+ 1,050% E,= (6 30)q,
E,= 320(N + 15) E,= (3 6)q.
E, = 300 (N + 6) E.= (1 2)q.
E,= 1,200(N + 6)
E,= (3 8)g¢q.,
(Slt)
1,>30, E,= (100 500)S,
1,<30, E,= (500 1,500)S,
1< OCR <2 E,= (800 1,200)S,
OCR >2 E,= (1,500 2,000)S5,
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, E, (251) (Peck &
Davisson, 1962).
E,= 15¢, 95¢, (251)
1 Clt
15 Cyu, 95 Cy
(252)
E, = 40c, (252)
25 E, (Poulos, 1971)
(t/m?) (t/m?)
90 120 175
210 420 350
420 980 700
: Poulos(1971) 25
. Ladd(1965)
1 E N
E, cy
(253)
E,= (250 500)c, (253)
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,c, (kg/ cm?)

(1966) E, ¢, (2.54)
E. = -1 (q,- 0.04) (2.54)
s 35 u *
Ei Cu
E,=210¢, (2.55)
MIT
Ei Cy
E,= 1,200c, (2.56)
( , 1992 : , 1992).
q. 3 24
25 18
Ei:6'3qc1 Ei:7'6qc
g, 25 24 E,=6.8q,
, 2 14kg/cm? 20
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50k g/ cm? : 2 10kg/cm?

6 40kg/cm?
Bowles(1982) E,=6 8gq.
26
2.6 ( 2 ,1994)
E ;= 148¢, E,=80 320 ¢,
E ;= 191c, E ;=50 400c,
E ;= 164c, E ;=50 400c,
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